GSCEC

George School

ofF

Competitive Exams

WEST BENGAL POLICE WIRELESS OPERATOR EXAM
Model Set

90 mint.

NAME s
TIME :

ROLL NO :
FULL MARKS :

100

GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE

Vector -43 Re (@K (ACF TOHaa PO 7@ SIelRell
T SIEl AR —

(@) FAB = FBA @) FAB = _FBA

(3) FAB = F(A+B) (4) FAB = _F(A+B)

t AN, REF @9l v, N a Gaee FREtaRS At (=l

G3f6 TG x GFF AL IfOFN FIe B @9l v 7@ | Nova
@I TG A2

1) v=v, +a 2 X:v0t+%a[2

(4) 7=l

X FF 4TF 4N G IET TN 24 I W X = a
+ bt (AT a=8.5m, b = 2.5 m/s? 4R t (F CTCIFCS 9=l
9 =W 0T @9t = 2 OIS F© F(A?

(1) 12 m/s (2) 20 m/s

(3) 10 m/s (4) 8 m/is

% S0 @ GF Jfeq TG 26 IO AT ¥0H |
ARITT T OF @ 12 mis el Twel Fo?

(1) 735 m 2 72m

(3) 7.83 m (4) 75 m

0 TMS oIt [N 75 A7 ~ifre =311 G1fte sifmere
T ?

(1) 08's (2) 1.25 s

(3) 05s 4 1s

o7 Periodic Function 531 o=ffassiet el e

sin Wt + cos Wt

(3) V=V +2a

1) 20 @ =

@ & @ 2

@3> T AET WIeTC o FAERe SR (e (S|
GFF)

X =5cod 2nt+ &
{” 4)

T @9l Fef T |

(1) 20 m/s (2) 14 m/s
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AW R = A =, BT = e CT = X,
SIZE A AN DF M Fe 207 2 (BODMA S~ ferzrsy
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(4) (v), (iv), (i), (i), (i)

. a5 9f%q 9B Fi5T 12617 A9 Ted-+if*6x e Sz |

9f b 90° 9w Hioia e caries 8 : 15 s fifacsa

26.

27.

28.

29.

30.

31

32.

33.

34.

FHIT i e aFca 2 0
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Al
® (33 @ (&)
@23 @[5

57.

58.

59.

61.

62.

63.

65.

66.

-1 =, mw S W

Al
(1)-2 (2)-1
(3)-3 @ 5
y:cos*% 30, %:?
™ 1 @ i
@ 1y @ i
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AfSRIPE 128 ONETF (I AT SIS SRFS ?
(1) 2= (2) =aifer
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(1) i (2) oot Pl
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(1) o BET @3 AT G

(2) 3FBrase ARG

(3) NADF (B R PG
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(1) Tifee Tessfaml  (2) C¥o TEleI
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. MIC-97 ~jtal 325 ze1—

(1) Magnetic Ink Cases Reader
(2) Magnetic Ink Card Recognition
(3) Magnetic Ink Character Recognition

(4) TofE%e @fbe T

. NEREFA-F (P ACSHF 23 ©F (T 2 carel

I 2RCR?
(D) &= (2) sligim () 2w (4) =
AT FIC (22T F© AlCeT AR 2

(1) 1951 (2) 1970 (3) 1975  (4) 1985
. (I SHIETCRHIZALR S Ao AT 2

(1) CH,OH (2) CH,OH

(3) CH,OH (4) C,H,,OH

. T @I R @ et fides w2

(1) celitTer (2) CoItTe

(3) ShiICTer (4) (GTeTCre

OIS RS SIFE O HCA I (FIeT PTG (e
HALZ| Bl FACR 2
(1) =i

(3) RgAaagst

(2) fecz™ fare
(4) =TT

94.
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96.
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98.

99.

I A<zl e, 1972 2 AHIS & —
(1) 1995 AitsT (2) 1990 FTsT

(3) 1991 Ts (4) 1985 Aits

TS AT 73 FP1Ze (2Tes bie] 272

(1) 1961 (2) 1972 (3) 1983  (4) 2002
@[T TICE SoEel B9 Pl e I ([0O A 2
(1) e Jfm e

(2) warge woF A I

(3) Orinar 21 ed

(4) SECoW 7 SPTRe I
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A (A 93 2
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(3) T (4) c=t=
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Answers with Explanation

1. (2)
6. (2)

11.
16.

21.
22.

23.

24,
25.

26.

27.

2
©)

©)
)

©)

©)
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@

(4)

2. (4) 3.(3) 4.(1)  5.(1)
7. 3) 8. (3) 9.(4)  10. (4)
12. (3)  13. (1) 14. (1) 15 (2)
17. (1)  18. (1) 19. (3)  20. (1)

COURSE
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VHIT FLX

A CT 1]l ON

foiae SrFa]
ML RGXZ
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INSTITUTE
[folSe or)

VG F GRGH MR

R= -|A= +

B + | C> x

25A37C2B4R1="7

. ?=25437x2+4-1
M 2=62x2+4-1

S 2=124 + 4-1

— 2=31-1= 30

2 42 42 42 42 »
BEAG,DGCI,FIEK,HKGM
242 42 42 42 12

£
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A< B

D+

28. (4) A B C

I

]
H G F E D

&\2@@%{@{— AHG AIG, AlIB, JFE, CJE, CED,
ABG, CFE, ACJ, EGI, ACE, AGE, CFD, AHE
= 14%

+3 45 7 +9 +11

SR EN Y TR A P

+3 45 +7 +9

30. (1)

T Gk
%14‘?{‘{ ISNFI‘«—
B ARRETR AE I AT (*F 144R 2w [T1
R [@IfZe B (A 15 B fZe |
F AT 27 @Tf\rwf\mcwma\mm
GR AN TEMSF (AF 157 BT W7 |

A IR ANMSF (AT 209 BT SR

. Mface G (zeet wte = (20+15)-1 = 34

OSSO @ 90SO @ 40SO @ 0SSO @ 40SO

31 (3)

32. (4)

33. 3

34.(1) 25+ 17+ 41 =83
25+ 32 + 26 = 83
41 + 11 + 31 = 83

26++31=83

35. (2)

36. (4)

37.4 A CB
O
XY Zz

38. (2)

39. (1

40. (4) dlfesfer [iew oo s@iF 9|
41. (1) 2xil _ ol0 59
= 2.2 =1024- 512
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42. (2)

43. (4)

:Ixim(x+5):l+5=6

Fe(ba ANl

(x=2)? + (y+3)* = (5-2)* + (-1+3)
= (x=2)? + (y+3)2 = 9+4 = 13

dy d

4.9 Gk +2x] =)+ o(20)
= 3% + 2.1.x+
=3x% + 2.
45 (2) «fF S 9B w8 p
aBz%
32 443 6
.G Bide Vo2 V23
3v2(V6-+3) 43(v6-2) V6(v3-+2)

47. (2)

48. (1)

49. (1)

50. (3)

GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE @ GSCE

(Vo B)B—B) (VB+v2)[V6—2) (Vari2)Na-12)

_3J/12-3J6 4/18-46  18-V12
6-3 6-2 3-2

=J12-J6-18 +/6 +18-12=0
AT o = 5+(7-1)x7 = 47

cot (—870)° =-cot8709 - cot(-6) = —coto |

= —0c0t(9x 90°+60°) = —(~tan60°) = tan60°= /3

. 8-(-2
gt (m) =5, —i :4—E—6; % 1

x-2? _ [x3-6x%12x-8
T

= [xdx —6[dx +12[+ dx —8[x 2dx

1
——6x+12log|x| 8
1+1 1

+C

1 2 8
==Xx*-6x+12log|x |+—+cC
> +12log | |+X+

[T ¢ = TR 5]

51. (1) log,” =1=log,*¥ =1
log,’ +log,’ =1
= log,’ =1-log,’ =1-0.30103 = 0.69897
log,* log,” 5lo
|09532 — 9105 _ gm5 — gm _ 5><030103_ 215
log,” log,, log,, 0.69897
sin@-sing  cosbcos) +sind-sing
52. (1) I+tan9tan9:1+ Z = 2t 2
2 cos0 - cos cosfcos?
_cos(6-3) cosy 1
" cosb-cos? cosP-cos cosO
53. (3)

_\/§+1

m:\/@:\/2+2\/§:\/4+2\/§: [\/§2+1j2 _

a@@mﬂ—_:%‘l

J§+1+J§—1
\/1+x+\/1—x: 2 2
Vi+x-+1-x  3+1 3-1

2 2
_\B+1+43-1 2( _a
\/§+1 \/§+1

x X « 21
54. (1) logz +|Oga +Iog16 :Z
L1 1 1 21
log,> log* log™® 4
1 1 1 2
log,> 2log® 4log? 4
1 1 1 21
I B S =
a 2a 4a 4 [og aw]
7.2
da 4
1
a==
—%73
1
log.? ==
gx 3
2x%—2
=>Xx=8
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1
tan E_e ==
o)

tan™ — tan@
. 4

N

1+tan™ . tan@
4

1-tan®6 1
= ==
1+tan®0 2
= 1+tan6=2-2tand
= 3tand6=1

1
=>tanb==
3

12
~.Sin2o=_2@0 __3_3
l+tn’0 ,, 1 10

9

56.(2) 5x2+5y?-8x+6y—-15=0

Lt ey -Bxsy a0
“peaeof et (-0

(g 3

oo -{4-
57.(2) F()-1

SfQHh) = @R £y -1

1 -h
4 (R O N i S v
- lim—L_
o 1+h
__ 1
1+0
=-1
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58.(1) &, x=tano

y=cos™ 1- tani 9 _ cos* cos26
1+tan“0
y=20=2tan"x
dy  dpay_o 1
dx dx(2tan x)= 21+ NG
sin(A-B) sinAcosB-cosA -sinB
59.(4) ‘§nasnB = snA.sng | CoiBTotA
sn(B-C) _ - i
GFTSIF <nB Sne = C0LC—CotB &
sin(C-A)
m = COtA - COtC
_sin(A-B) sin(B-C) sin(C-A)
""dnA-sinB  sinB-sinC  sinC-sinA
= cotB - cotA + cot C — cotB + cotA —cotC
=0
60. (3)
13| 50038 13| 1000| 76
39 9]
110 90
104 78
6 12
500 (2 1000 -43 S[ce 13 71 [erey
%423 %% = 500 + (13 — 6) = 507
g 2w =1000-12 =988
(G 2% 7127 = 76 — 38 = 38
-, FoCefe st = (507 + 988) =19 1495 - 28405
61. (1) 62. (2) 63. (1) 64. (2)
65. (4) 66. (3) 67.(3) 68. (1)
69. (1) 70. (3) 71.(2) 72.(3)
73.(3) 74.(2) 75. (3) 76.(3)
77.(1) 78.(4) 79.(3) 80. (2)
81. (4) 82.(1) 83.(1) 84. (1)
85. (1) 86. (1) 87.(2) 88.(3)
89. (2) 90. (2) 91. (4) 92. (1)
93.(2) 9. (3) 95. (3) 9. (2)
97.(2) 98. (4) 99. (1) 100. (3)
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